## Article

# Degenerate Hermite-Bernoulli Numbers and Polynomials of the Second Kind 

Waseem A. Khan ${ }^{11}$<br>Department of Mathematics, Integral University, Lucknow-226026, India


#### Abstract

In this paper, we introduce a degenerate Hermite-Bernoulli numbers and polynomials of the second kind and develop some elementary properties. We derive some implicit summation formulae and general symmetry identities are derived by using different analytical means and applying generating functions.


Keywords: Hermite polynomials, degenerate Bernoulli polynomials of the second kind, degenerate Hermite-Bernoulli polynomials of the second kind, Summation fomulae, Symmetric identities.

## 1. Introduction

The 2-variable Kampé de Fériet generalization of the Hermite polynomials [2] and [4] reads

$$
\begin{equation*}
H_{n}(x, y)=n!\sum_{r=0}^{\left[\frac{n}{2}\right]} \frac{y^{r} x^{n-2 r}}{r!(n-2 r)!} \tag{1.1}
\end{equation*}
$$

These polynomials are usually defined by the generating function

$$
\begin{equation*}
e^{x t+y t^{2}}=\sum_{n=0}^{\infty} H_{n}(x, y) \frac{t^{n}}{n!} \tag{1.2}
\end{equation*}
$$

and reduce to the ordinary Hermite polynomials $H_{n}(x)$ (see [1]) when $y=-1$ and $x$ is replaced by $2 x$. Based on the definition and generating function above, we can define degenerate Hermite polynomials by means of the generating function

$$
\begin{equation*}
(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}=\sum_{n=0}^{\infty} H_{n}(x, y ; \lambda) \frac{t^{n}}{n!} \tag{1.3}
\end{equation*}
$$

where $\lambda \neq 0$. Since $(1+\lambda t)^{\frac{1}{\lambda}} \longrightarrow e^{t}$ as $\lambda \longrightarrow 0$, it is evident that (1.3) reduces to (1.2). That is $H_{n}(x, y)$ limiting case of $H_{n}(x, y ; \lambda)$ when $\lambda \longrightarrow 0$.
By equating coefficients of $t^{n}$ on both the sides of (1.3), the following representation of $H_{n}(x, y ; \lambda)$ is obtained

$$
\begin{equation*}
H_{n}(x, y ; \lambda)=n!\sum_{r=0}^{\left[\frac{n}{2}\right]} \frac{\left(-\frac{x}{\lambda}\right)_{n-2 r}\left(-\frac{y}{\lambda}\right)_{r}(-\lambda)^{n-r}}{r!(n-2 r)!} \tag{1.4}
\end{equation*}
$$

Since $\lim _{\lambda \longrightarrow 0} H_{n}(x, y ; \lambda)=H_{n}(x, y),(1.1)$ is a limiting case of (1.4).
In [3], Carlitz, L introduced the degenerate Bernoulli polynomials defined by

$$
\begin{equation*}
\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}=\sum_{n=0}^{\infty} \beta_{n}(x \mid \lambda) \frac{t^{n}}{n!} \tag{1.5}
\end{equation*}
$$

[^0]When $x=0, \beta_{n}(\lambda)=\beta_{n}^{(\alpha)}(\lambda, 0)$ are called the degenerate Bernoulli numbers.
Note that

$$
\lim _{\lambda \longrightarrow 0} \beta_{n}(x \mid \lambda)=B_{n}(x),(n \geq 0) .
$$

Kim and Seo [7] introduced the degenerate Bernoulli polynomials of the second kind defined by

$$
\begin{equation*}
\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}=\sum_{n=0}^{\infty} B_{n}(x \mid \lambda) \frac{t^{n}}{n!} \tag{1.6}
\end{equation*}
$$

When $x=0$ in (1.6), $B_{n}(\lambda)=B_{n}(0 \mid \lambda)$ are called the degenerate Bernoulli numbers of the second kind. Note that

$$
\lim _{\lambda \longrightarrow 0} B_{n}(x \mid \lambda)=B_{n}(x)
$$

where $B_{n}(x)$ are called the Bernoulli polynomials (see $[6,8,9]$ ).
Pathan and Khan [8] introduced the generalized Hermite-Bernoulli polynomials of two variables ${ }_{H} B_{n}^{(\alpha)}(x, y)$ defined by

$$
\begin{equation*}
\left(\frac{t}{e^{t}-1}\right)^{\alpha} e^{x t+y t^{2}}=\sum_{n=0}^{\infty}{ }_{H} B_{n}^{(\alpha)}(x, y) \frac{t^{n}}{n!} \tag{1.7}
\end{equation*}
$$

which is essentially a generalization of Bernoulli numbers, Bernoulli polynomials, Hermite polynomials and Hermite-Bernoulli polynomials ${ }_{H} B_{n}(x, y)$ introduced by Dattoli et al [4, p.386(1.6)] in the form

$$
\begin{equation*}
\left(\frac{t}{e^{t}-1}\right) e^{x t+y t^{2}}=\sum_{n=0}^{\infty}{ }_{H} B_{n}(x, y) \frac{t^{n}}{n!} \tag{1.8}
\end{equation*}
$$

The Stirling number of the first kind is given by

$$
\begin{equation*}
(x)_{n}=x(x-1) \cdots(x-n+1)=\sum_{l=0}^{n} S_{1}(n, l) x^{l},(n \geq 0) \tag{1.9}
\end{equation*}
$$

and the Stirling number of the second kind is defined by generating function to be

$$
\begin{equation*}
\left(e^{t}-1\right)^{n}=n!\sum_{l=n}^{\infty} S_{2}(l, n) \frac{t^{l}}{l!} \tag{1.10}
\end{equation*}
$$

A generalized falling factorial sum $\sigma_{k}(n ; \lambda)$ can be defined by the generating function

$$
\begin{equation*}
\sum_{k=0}^{\infty} \sigma_{k}(n ; \lambda) \frac{t^{k}}{k!}=\frac{(1+\lambda t))^{\frac{(n+1)}{\lambda}}-1}{(1+\lambda t)^{\frac{1}{\lambda}}-1}, \quad(\text { see }[10]) \tag{1.11}
\end{equation*}
$$

where $\lim _{\lambda \longrightarrow 0} \sigma_{k}(n ; \lambda)=S_{k}(n)$.
In this paper, we consider a degenerate Hermite-Bernoulli numbers and polynomials of the second kind ${ }_{H} B_{n}(x, y \mid \lambda)$ and derive some identities and formulae related to Hermite-Bernoulli numbers and polynomials of the second kind.

## 2. Degenerate Hermite-Bernoulli Polynomials of the Second Kind

Let us assume that $\lambda, t \in \mathbb{C}_{p}$ such that $|\lambda t|_{p}<p^{-\frac{1}{p-1}}$. Then, we consider the degenerate Hermite-Bernoulli polynomials of the second kind which are given by the generating function

$$
\begin{equation*}
\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}=\sum_{n=0}^{\infty}{ }_{H} B_{n}(x, y \mid \lambda) \frac{t^{n}}{n!} \tag{2.1}
\end{equation*}
$$

so that

$$
\begin{equation*}
{ }_{H} B_{n}(x, y \mid \lambda)=\sum_{m=0}^{n}\binom{n}{m} B_{m}(\lambda) H_{n-m}(x, y \mid \lambda) \tag{2.2}
\end{equation*}
$$

When $x=y=0$ in (2.1), $B_{n}(\lambda)={ }_{H} B_{n}(0,0 \mid \lambda)$ are called the degenerate Bernoulli numbers of the second kind.
From (2.1), we note that

$$
\begin{equation*}
\sum_{n=0}^{\infty} \lim _{\lambda \rightarrow 0} H_{n} B_{n}(x, y \mid \lambda) \frac{t^{n}}{n!}=\lim _{\lambda \rightarrow 0} \frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}=\sum_{n=0}^{\infty}{ }_{H} B_{n}(x, y) \frac{t^{n}}{n!} \tag{2.3}
\end{equation*}
$$

Thus, we get

$$
\begin{equation*}
\lim _{\lambda \longrightarrow 0} H_{n}(x, y \mid \lambda)={ }_{H} B_{n}(x, y),(n \geq 0) \tag{2.4}
\end{equation*}
$$

Theorem 2.1. For $n \geq 0$, we have

$$
\begin{equation*}
{ }_{H} B_{n}(x, y \mid \lambda)=\sum_{m=0}^{n}\binom{n}{m} \frac{(-1)^{m} m!}{(m+1)} \lambda^{m}{ }_{H} \beta_{n-m}(x, y \mid \lambda) \tag{2.5}
\end{equation*}
$$

Proof. Form (2.1), we have

$$
\begin{gather*}
\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}=\left(\frac{\log (1+\lambda t}{\lambda t}\right)\left(\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}}-1}\right)(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}} \\
=\left(\sum_{m=0}^{\infty} \frac{(-1)^{m}}{m+1} \lambda^{m} t^{m}\right)\left(\sum_{n=0}^{\infty} H_{n}\left(x, y \left\lvert\, \lambda \frac{t^{n}}{n!}\right.\right)\right. \\
=\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n}\binom{n}{m} \frac{(-1)^{m} m!}{(m+1)} \lambda^{m}{ }_{H} \beta_{n-m}(x, y \mid \lambda)\right) \frac{t^{n}}{n!} \tag{2.6}
\end{gather*}
$$

Comparing the coefficients of equations (2.1) and (2.6), we get the result (2.5).
Theorem 2.2. For $n \geq 0$, we have

$$
\begin{equation*}
{ }_{H} B_{n}(x, y \mid \lambda)=\sum_{m=0}^{n}\binom{n}{m}{ }_{H} \beta_{n-m}(x, y \mid \lambda) \lambda^{m} D_{m}(0) \tag{2.7}
\end{equation*}
$$

Proof. Since

$$
\begin{gather*}
\sum_{n=0}^{\infty}{ }_{H} B_{n}(x, y \mid \lambda) \frac{t^{n}}{n!}=\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}  \tag{2.8}\\
=\left(\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}}-1}\right)(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}\left(\frac{\log (1+\lambda t}{\lambda t}\right) \\
=\sum_{n=0}^{\infty} H_{H} \beta_{n}(x, y \mid \lambda) \frac{t^{n}}{n!} \sum_{m=0}^{\infty} D_{m}(0) \frac{(\lambda t)^{m}}{m!}
\end{gather*}
$$

where $D_{n}(x)$ are Daehee polynomials defined by $\frac{\log (1+t)}{t}(1+t)^{x}=\sum_{n=0}^{\infty} D_{n}(x) \frac{t^{n}}{n!}$ and $D_{n}(0)=D_{n}$ are Daehee numbers (see [5]).

Replacing $n$ by $n-m$ in above equation and comparing the coefficient of $t^{n}$, we get the result (2.7).
Theorem 2.3. For $n \geq 0$, we have

$$
\begin{equation*}
\sum_{m=0}^{n}{ }_{H} B_{m}(x, y) \lambda^{n-m} S_{1}(n, m)=\sum_{m=0}^{n}\binom{n}{m} \frac{(-1)^{m} m!}{(m+1)} \lambda^{m}{ }_{H} \beta_{n-m}(x, y \mid \lambda) \tag{2.9}
\end{equation*}
$$

Proof. Replacing $t$ by $\frac{1}{\lambda} \log (1+\lambda t)$ in (1.8), we have

$$
\begin{align*}
& \frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}} \\
= & \sum_{n=0}^{\infty}{ }_{H} B_{n}(x, y) \lambda^{-n} \frac{1}{n!}(\log (1+\lambda t))^{n} \\
= & \sum_{n=0}^{\infty}\left(\sum_{m=0}^{n}{ }_{H} B_{m}(x, y) \lambda^{n-m} S_{1}(n, m)\right) \frac{t^{n}}{n!} \tag{2.10}
\end{align*}
$$

On the other hand

$$
\begin{gather*}
\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}} \\
=\left(\frac{\log (1+\lambda t)}{\lambda t}\right)\left(\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}\right) \\
=\left(\sum_{m=0}^{\infty} \frac{(-1)^{m}}{m+1} \lambda^{m} t^{m}\right)\left(\sum_{n=0}^{\infty}{ }_{H} \beta_{n}(x, y \mid \lambda) \frac{t^{n}}{n!}\right) \\
=\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n}\binom{n}{m} \frac{(-1)^{m} m!}{(m+1)} \lambda^{m}{ }_{H} \beta_{n-m}(x, y \mid \lambda)\right) \frac{t^{n}}{n!} \tag{2.11}
\end{gather*}
$$

By comparing the coefficients of $t^{n}$ on the right hand sides of the last two equations, we arrive at the desired result.

Theorem 2.4. For $n \geq 0$, we have

$$
\begin{equation*}
\frac{{ }_{H} B_{n+1}(x+1, y \mid \lambda)-{ }_{H} B_{n+1}(x, y \mid \lambda)}{n+1}=\sum_{m=0}^{n}\binom{n}{m} \frac{\lambda^{m}(-1)^{m} m!}{m+1} H_{n-m}(x, y \mid \lambda) \tag{2.12}
\end{equation*}
$$

Proof. By using the definition (2.1), we have

$$
\begin{gathered}
\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x+1}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}-\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}} \\
=\log (1+\lambda t)^{\frac{1}{\lambda}}(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}} \\
\sum_{n=0}^{\infty}\left[\frac{H B_{n+1}(x+1, y \mid \lambda)-{ }_{H} B_{n+1}(x, y \mid \lambda)}{n+1}\right] \frac{t^{n}}{n!} \\
=\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n}\binom{n}{m} \frac{\lambda^{m}(-1)^{m} m!}{m+1} H_{n-m}(x, y \mid \lambda)\right) \frac{t^{n}}{n!}
\end{gathered}
$$

Comparing the coefficients of $t^{n}$, we get the result (2.12).
Theorem 2.5. For $n \geq 0$ and $d \in \mathbb{N}$, we have

$$
\begin{equation*}
{ }_{H} B_{n, \lambda}(x, y)=d^{n-1} \sum_{a=0}^{d-1}{ }_{H} B_{n}\left(\frac{a+x}{d}, y \left\lvert\, \frac{\lambda}{d}\right.\right) \tag{2.13}
\end{equation*}
$$

Proof. From (2.1) in the form

$$
\begin{gathered}
\sum_{n=0}^{\infty}{ }_{H} B_{n, \lambda}(x, y) \frac{t^{n}}{n!}=\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{d}{\lambda}}-1}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}} \sum_{a=0}^{d-1}(1+\lambda t)^{\frac{a+x}{\lambda}} \\
=\frac{1}{d}\left(\sum_{a=0}^{d-1} \frac{\log (1+\lambda t)^{\frac{d}{\lambda}}}{(1+\lambda t)^{\frac{d}{\lambda}}-1}\right)(1+\lambda t)^{\frac{d}{\lambda} \frac{a+x}{d}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}} \\
=\sum_{n=0}^{\infty}\left(d^{n-1} \sum_{a=0}^{d-1} H_{n}\left(\frac{a+x}{d}, y \left\lvert\, \frac{\lambda}{d}\right.\right)\right) \frac{t^{n}}{n!},(d \in \mathbb{N})
\end{gathered}
$$

Comparing the coefficients of $t^{n}$, we get the result (2.13).

## 3. Implicit Formulae Involving Degenerate Hermite-Bernoulli Polynomials of the Second Kind

The result of this section present implicit summation formulae for degenerate Hermite-Bernoulli polynomials of the second kind as follows:

Theorem 3.1. The following implicit summation formula involving degenerate Hermite-Bernoulli polynomials of the second kind ${ }_{H} B_{n}(x, y \mid \lambda)$ holds true:

$$
\begin{equation*}
{ }_{H} B_{n}(x+z, y+u \mid \lambda)=\sum_{s=0}^{n}\binom{n}{s}{ }_{H} B_{n-s}(x, y \mid \lambda) H_{s}(z, u \mid \lambda) \tag{3.1}
\end{equation*}
$$

Proof. We replace x by $\mathrm{x}+\mathrm{z}$ and y by $\mathrm{y}+\mathrm{u}$ in (2.1), use (1.3) and rewrite the generating function as

$$
\begin{gather*}
\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x+z}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y+u}{\lambda}}=\sum_{n=0}^{\infty} H_{H} B_{n}(x, y \mid \lambda) \frac{t^{n}}{n!} \sum_{s=0}^{\infty} H_{s}(z, u \mid \lambda) \frac{t^{s}}{s!} \\
=\sum_{n=0}^{\infty} H_{H} B_{n}(x+z, y+u \mid \lambda) \frac{t^{n}}{n!} \tag{3.2}
\end{gather*}
$$

Now replacing $n$ by $n-s$ in l.h.s and comparing the coefficients of $t^{n}$, we get the result (3.1).
Remark 1. By taking the limit as $\lambda \longrightarrow 0$ in (3.1), we have

## Corollary 1.

$$
\begin{equation*}
{ }_{H} B_{n}(x+z, y+u)=\sum_{s=0}^{n}\binom{n}{s}{ }_{H} B_{n-s}(x, y) H_{s}(z, u) \tag{3.3}
\end{equation*}
$$

Theorem 3.2. The following implicit summation formula involving degenerate Hermite-Bernoulli polynomials of the second kind ${ }_{H} B_{n}(x, y \mid \lambda)$ holds true:

$$
\begin{equation*}
{ }_{H} B_{n}(x, y \mid \lambda)=\sum_{m=0}^{n-2 j} \sum_{j=0}^{\left[\frac{n}{2}\right]} B_{m}(1 \mid \lambda)\left(-\frac{x}{\lambda}\right)_{n-m-2 j}(-\lambda)^{n-m-j}\left(-\frac{y}{\lambda}\right)_{j} \frac{n!}{m!j!(n-2 j-m)!} \tag{3.4}
\end{equation*}
$$

Proof. Applying the definition (2.1) to the term $\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}$ and expanding the function $(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}$ at $t=0$ yields

$$
\begin{gathered}
\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}=\left(\sum_{m=0}^{\infty} B_{m}(1 \mid \lambda) \frac{t^{m}}{m!}\right)\left(\sum_{n=0}^{\infty}\left(-\frac{x}{\lambda}\right)_{n} \frac{(-\lambda t)^{n}}{n!}\right)\left(\sum_{j=0}^{\infty}\left(-\frac{y}{\lambda}\right)_{j} \frac{\left(-\lambda t^{2}\right)^{j}}{j!}\right) \\
=\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n}\binom{n}{m} B_{m}(1 \mid \lambda)\left(-\frac{x}{\lambda}\right)_{n-m}(-\lambda)^{n-m}\right) \frac{t^{n}}{n!}\left(\sum_{j=0}^{\infty}\left(-\frac{y}{\lambda}\right)_{j} \frac{\left(-\lambda t^{2}\right)^{j}}{j!}\right)
\end{gathered}
$$

Replacing $n$ by $n-2 j$, we have

$$
\begin{gather*}
\sum_{n=0}^{\infty}{ }_{H} B_{n}(x, y \mid \lambda) \frac{t^{n}}{n!} \\
=\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n-2 j} \sum_{j=0}^{\left[\frac{n}{2}\right]}\binom{n-2 j}{m} B_{m}(1 \mid \lambda)\left(-\frac{x}{\lambda}\right)_{n-m-2 j}(-\lambda)^{n-m-j}\left(-\frac{y}{\lambda}\right)_{j}\right) \frac{t^{n}}{(n-2 j)!j!} \tag{3.5}
\end{gather*}
$$

Equating their coefficients of $t^{n}$, we get the result (3.4).
Theorem 3.3. The following implicit summation formula involving degenerate Hermite-Bernoulli polynomials of the second kind ${ }_{H} B_{n}(x, y \mid \lambda)$ holds true:

$$
\begin{equation*}
{ }_{H} B_{n}(x, y \mid \lambda)=\sum_{m=0}^{n}\binom{n}{m}\left(-\frac{z}{\lambda}\right)_{n-m}(-\lambda)^{n-m}{ }_{H} B_{m}(x-z, y \mid \lambda) \tag{3.6}
\end{equation*}
$$

Proof. By exploiting the generating function (2.1), we can write the equation

$$
\begin{gather*}
\sum_{n=0}^{\infty}{ }_{H} B_{n}(x, y \mid \lambda) \frac{t^{n}}{n!}=\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x-z}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}(1+\lambda t)^{\frac{z}{\lambda}}  \tag{3.7}\\
=\left(\sum_{m=0}^{\infty}{ }_{H} B_{m}(x-z, y \mid \lambda) \frac{t^{m}}{m!}\right)\left(\sum_{n=0}^{\infty}\left(-\frac{z}{\lambda}\right)_{n} \frac{(-\lambda t)^{n}}{n!}\right)
\end{gather*}
$$

Replacing $n$ by $n-m$ in above equation and equating their coefficients of $t^{n}$ leads to formula (3.6).
Theorem 3.4. The following implicit summation formula involving degenerate Hermite-Bernoulli polynomials of the second kind ${ }_{H} B_{n}(x, y \mid \lambda)$ holds true:

$$
\begin{equation*}
{ }_{H} B_{n}(x+1, y \mid \lambda)=\sum_{r=0}^{n}\binom{n}{r}\left(-\frac{1}{\lambda}\right)_{r}(-\lambda)^{r}{ }_{H} B_{n-r}(x, y \mid \lambda) \tag{3.8}
\end{equation*}
$$

Proof. By the definition of degenerate Hermite-Bernoulli polynomials of the second kind, we have

$$
\begin{gathered}
\sum_{n=0}^{\infty}{ }_{H} B_{n}(x+1, y \mid \lambda) \frac{t^{n}}{n!}+\sum_{n=0}^{\infty}{ }_{H} B_{n}(x, y \mid \lambda) \frac{t^{n}}{n!}=\frac{\log (1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{y}{\lambda}}\left((1+\lambda t)^{\frac{1}{\lambda}}+1\right) \\
=\left(\sum_{n=0}^{\infty}{ }_{H} B_{n}(x, y \mid \lambda) \frac{t^{n}}{n!}\right)\left(\sum_{r=0}^{\infty}\left(-\frac{1}{\lambda}\right)_{r} \frac{(-\lambda t)^{r}}{r!}\right)+\sum_{n=0}^{\infty}{ }_{H} B_{n}(x, y \mid \lambda) \frac{t^{n}}{n!}
\end{gathered}
$$

$$
=\sum_{n=0}^{\infty} \sum_{r=0}^{n}{ }_{H} B_{n-r}(x, y \mid \lambda)\left(-\frac{1}{\lambda}\right)_{r}(-\lambda)^{r} \frac{t^{n}}{(n-r)!r!}+\sum_{n=0}^{\infty}{ }_{H} B_{n}(x, y \mid \lambda) \frac{t^{n}}{n!}
$$

Finally, equating the coefficients of the like powers of $t^{n}$, we get (3.8).

## 4. Identities for Degenerate Hermite poly-Bernoulli Polynomials of the Second Kind

In this section, we give general symmetry identities for the degenerate Bernoulli polynomials of the second kind $B_{n}(x \mid \lambda)$ and the degenerate Hermite Bernoulli polynomials of the second kind ${ }_{H} B_{n}(x, y \mid \lambda)$ by applying the generating function(1.6) and (2.1).

Theorem 4.1. Let $a, b>0$ and $a \neq b$. For $x, y \in \mathbb{R}$ and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{m=0}^{n}\binom{n}{m} b^{m} a_{H}^{n-m} B_{n-m}\left(b x, b^{2} y \mid \lambda\right)_{H} B_{m}\left(a x, a^{2} y \mid \lambda\right) \\
= & \sum_{m=0}^{n}\binom{n}{m} a^{m} b^{n-m}{ }_{H} B_{n-m, \lambda}\left(a x, a^{2} y \mid \lambda\right)_{H} B_{m}\left(b x, b^{2} y \mid \lambda\right) \tag{4.1}
\end{align*}
$$

Proof. Start with

$$
\begin{equation*}
g(t)=\left(\frac{\left(\log (1+\lambda t)^{\frac{a}{\lambda}}\right)\left(\log (1+\lambda t)^{\frac{b}{\lambda}}\right)}{\left((1+\lambda t)^{\frac{a}{\lambda}}-1\right)\left((1+\lambda t)^{\frac{b}{\lambda}}-1\right)}\right)(1+\lambda t)^{\frac{a b x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{a^{2} b^{2} y}{\lambda}} \tag{4.2}
\end{equation*}
$$

Then the expression for $g(t)$ is symmetric in a and b and we can expand $g(t)$ into series in two ways to obtain

$$
\begin{gathered}
g(t)=\sum_{n=0}^{\infty}{ }_{H} B_{n}\left(b x, b^{2} y \mid \lambda\right) \frac{(a t)^{n}}{n!} \sum_{m=0}^{\infty}{ }_{H} B_{m}\left(a x, a^{2} y \mid \lambda\right) \frac{(b t)^{m}}{m!} \\
=\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n}\binom{n}{m} a^{n-m} b^{m}{ }_{H} B_{n-m}\left(b x, b^{2} y \mid \lambda\right)_{H} B_{m}\left(a x, a^{2} y \mid \lambda\right)\right) \frac{t^{n}}{n!}
\end{gathered}
$$

On the similar lines we can show that

$$
\begin{gathered}
g(t)=\sum_{n=0}^{\infty}{ }_{H} B_{n}\left(a x, a^{2} y \mid \lambda\right) \frac{(b t)^{n}}{n!} \sum_{m=0}^{\infty}{ }_{H} B_{m}\left(b x, b^{2} y \mid \lambda\right) \frac{(a t)^{m}}{m!} \\
=\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n}\binom{n}{m} a^{m} b^{n-m}{ }_{H} B_{n-m}\left(a x, a^{2} y \mid \lambda\right)_{H} B_{m}\left(b x, b^{2} y \mid \lambda\right)\right) \frac{t^{n}}{n!}
\end{gathered}
$$

Comparing the coefficients of $t^{n}$ on the right hand sides of the last two equations, we arrive the desired result.

Remark 1. By setting $b=1$ in Theorem 4.1, we immediately following result Corollary.

$$
\begin{align*}
& \sum_{m=0}^{n}\binom{n}{m} a^{n-m}{ }_{H} B_{n-m}(x, y \mid \lambda)_{H} B_{m}\left(a x, a^{2} y \mid \lambda\right) \\
& =\sum_{m=0}^{n}\binom{n}{m} a_{H}^{m} B_{n-m}\left(a x, a^{2} y \mid \lambda\right)_{H} B_{m}(x, y \mid \lambda) \tag{4.3}
\end{align*}
$$

Theorem 4.2. For all integers $a>0, b>0$ and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k}{ }_{H} B_{n-k}\left(b x, b^{2} z \mid \lambda\right) \sum_{i=0}^{k}\binom{k}{i} \sigma_{i}(a-1 \mid \lambda) B_{k-i}(a y \mid \lambda) \\
= & \sum_{k=0}^{n}\binom{n}{k} a^{k} b^{n-k}{ }_{H} B_{n-k}\left(a x, a^{2} z \mid \lambda\right) \sum_{i=0}^{k}\binom{k}{i} \sigma_{i}(b-1 \mid \lambda) B_{k-i}(b y \mid \lambda) \tag{4.4}
\end{align*}
$$

where generalized falling factorial sum $\sigma_{k}(n \mid \lambda)$ is given by (1.11).
Proof. We now use

$$
\begin{equation*}
g(t)=\frac{\left(\log (1+\lambda t)^{\frac{a}{\lambda}}\right)\left(\log (1+\lambda t)^{\frac{b}{\lambda}}\right)\left((1+\lambda t)^{\frac{a b}{\lambda}}-1\right)(1+\lambda t)^{\frac{a b(x+y)}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{a^{2} b^{2} z}{\lambda}}}{\left((1+\lambda t)^{\frac{a}{\lambda}}-1\right)\left((1+\lambda t)^{\frac{b}{\lambda}}-1\right)^{2}} \tag{4.5}
\end{equation*}
$$

to find that

$$
\begin{gather*}
g(t)=\left(\frac{\log (1+\lambda t)^{\frac{a}{\lambda}}}{(1+\lambda t)^{\frac{a}{\lambda}}-1}\right)(1+\lambda t)^{\frac{a b x}{\lambda}}\left(1+\lambda t^{2}\right)^{\frac{a^{2} b^{2} z}{\lambda}}\left(\frac{(1+\lambda t)^{\frac{a b}{\lambda}}-1}{(1+\lambda t)^{\frac{b}{\lambda}}-1}\right) \\
\quad\left(\frac{\log (1+\lambda t)^{\frac{b}{\lambda}}}{(1+\lambda t)^{\frac{b}{\lambda}}-1}\right)(1+\lambda t)^{\frac{a b y}{\lambda}}  \tag{4.6}\\
=\sum_{n=0}^{\infty}{ }_{H} B_{n}\left(b x, b^{2} z \mid \lambda\right) \frac{(a t)^{n}}{n!} \sum_{i=0}^{\infty} \sigma_{i}(a-1 \mid \lambda) \frac{(b t)^{i}}{i!} \sum_{k=0}^{\infty} B_{k}(a y \mid \lambda) \frac{(b t)^{k}}{k!} \\
=\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} a^{n-k} b_{H}^{k} B_{n-k}\left(b x, b^{2} z \mid \lambda\right) \sum_{i=0}^{k}\binom{k}{i} \sigma_{i}(a-1 \mid \lambda) B_{k-i}(a y \mid \lambda)\right) \frac{t^{n}}{n!} \tag{4.7}
\end{gather*}
$$

Using a similar plan, we get

$$
\begin{equation*}
g(t)=\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} a^{k} b_{H}^{n-k} B_{n-k}\left(a x, a^{2} z \mid \lambda\right) \sum_{i=0}^{k}\binom{k}{i} \sigma_{i}(b-1 \mid \lambda) B_{k-i}(b y \mid \lambda)\right) \frac{t^{n}}{n!} \tag{4.8}
\end{equation*}
$$

Finally equating the coefficients of $t^{n}$ on the right hand sides of last two equations, we desired result (4.4).
Theorem 4.3. For all integers $a>0, b>0$ and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{k} b^{n-k} \sum_{i=0}^{a-1} H_{k}\left(b x+\frac{b}{a} i, b^{2} z \mid \lambda\right) B_{n-k}(a y \mid \lambda) \\
= & \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \sum_{i=0}^{b-1} H_{H} B_{k}\left(a x+\frac{a}{b} i, a^{2} z \mid \lambda\right) B_{n-k}(b y \mid \lambda) \tag{4.9}
\end{align*}
$$

Proof. From (4.6), g(t) can also be expanded as

$$
\begin{equation*}
=\left(\sum_{n=0}^{\infty} \sum_{i=0}^{a-1}{ }_{H} B_{n}\left(b x+\frac{b}{a} i, b^{2} z \mid \lambda\right) \frac{(a t)^{n}}{n!}\right)\left(\sum_{n=0}^{\infty} B_{n}(a y \mid \lambda) \frac{(b t)^{n}}{n!}\right) \tag{4.10}
\end{equation*}
$$

Using a similar plan, we get

$$
\begin{equation*}
g(t)=\left(\sum_{n=0}^{\infty} \sum_{i=0}^{b-1}{ }_{H} B_{n}\left(a x+\frac{a}{b} i, a^{2} z \mid \lambda\right) \frac{(b t)^{n}}{n!}\right)\left(\sum_{n=0}^{\infty} B_{n}(b y \mid \lambda) \frac{(a t)^{n}}{n!}\right) \tag{4.11}
\end{equation*}
$$

By comparing the coefficients of $t^{n}$ on the right hand sides of the last two equations, we arrive the desired result.

Received May 12, 2016; Accepted May 24, 2016

## References

[1] Andrews, L.C: Special functions for engineers and mathematicians, Macmillan.Co.New York, 1985.
[2] Bell, E.T: Exponential polynomials, Ann. of Math.35(1934), 258-277.
[3] Carlitz, L: Degenerate stirling Bernoulli and Eulerian numbers, Utilitas Math. 15(1979), 51-88.
[4] Dattoli, G, Lorenzutta, S and Cesarano, C: Finite sums and generalized forms of Bernoulli polynomials, Rendiconti di Mathematica, 19(1999), 385-391.
[5] Do, Y, Lim, D: On (h, q)-Daehee numbers and polynomials, Adv. Difference Equ.2015, 2015:107.
[6] Khan, W.A: A note on degenerate Hermite poly-Bernoulli numbers and polynomials, J.Classical Analysis, 8(1) (2016), 65-76.
[7] Kim, T, Seo, J.J: Degenerate Bernoulli numbers and polynomials of the second kind, Int.J.Math.Anal., Vol.9(26) (2015), 1269-1278.
[8] Pathan, M.A and Khan, W.A: Some implicit summation formulas and symmetric identities for the generalized Hermite-Bernoulli polynomials, Mediterr. J. Math. 12 (2015), 679-695.
[9] Pathan, M.A and Khan, W.A: A new class of generalized polynomials associated with Hermite and Euler polynomials, Mediterr. J. Math.DOI: 10.1007/s00009-015-0551-1, Springer, Basel 2015.
[10] Young, P.T: Degenerate Bernoulli polynomials generalized factorials sums and their application, J.Number Theory, 128(4) (2008), 738-758.


[^0]:    ${ }^{1}$ Correspondence: E-mail: waseem08_khan@rediffmail.com

